Heathlodge, Heathside NW3 1BL
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T1: Hawthorn (7m): Pollard to 30% of present height removing 2m of growth to keep tree at a size
suitable for its location

T2: Hawthorn (6m): Pollard to 30% of present height removing 2m of growth to keep tree at a size
suitable for its location



T4: Robinia (15m): Fell as too close to neighbouring property to continually prune. Re-growth comes
back too quickly and too aggressively.

T5: Mulberry (6m): Reduce end weight by 2m as tree is leaning on roof. This will stop the tree
leaning further.



